



namn: _____

Datum: _____ Poäng: _____

$$(5 + \frac{3}{4})^2 - \frac{1}{2} - 2^2 + \frac{1}{5} =$$

$$(\frac{3}{5} - \frac{1}{6})^2 - \frac{1}{2}(\frac{1}{6} + \frac{1}{4}) =$$

$$(3 + \frac{2}{5})^2 + \frac{3}{5} + \frac{2}{3} + 4^2 =$$

$$((\frac{1}{4})^2 + \frac{3}{2}) \times \frac{3}{4} - (\frac{3}{4} - \frac{1}{5})^2 =$$

$$((\frac{3}{5})^2 - \frac{1}{2}) \times \frac{1}{4} + (\frac{3}{5} + \frac{1}{2})^2 =$$

$$(2 + \frac{3}{5})^2 + \frac{1}{5} - 4^2 - \frac{1}{4} =$$

$$(5 - \frac{1}{5})^2 - \frac{3}{4} - 2^2 \times \frac{2}{3} =$$

$$((\frac{1}{3})^2 + \frac{2}{3}) \times \frac{1}{6} - (\frac{3}{2} - \frac{2}{3})^2 =$$

$$(2 + \frac{1}{2})^2 + \frac{1}{2} \times \frac{1}{3} - 2^2 =$$

$$(3 + \frac{3}{4})^2 + \frac{1}{2} - 5^2 - \frac{1}{5} =$$



namn: _____

Datum: _____ Poäng: _____

$$(5 + \frac{3}{4})^2 - \frac{1}{2} - 2^2 + \frac{1}{5} = \frac{2301}{80} = 28\frac{61}{80}$$

$$(\frac{3}{5} - \frac{1}{6})^2 - \frac{1}{2}(\frac{1}{6} + \frac{1}{4}) = (-\frac{37}{1800})$$

$$(3 + \frac{2}{5})^2 + \frac{3}{5} + \frac{2}{3} + 4^2 = \frac{2162}{75} = 28\frac{62}{75}$$

$$((\frac{1}{4})^2 + \frac{3}{2}) \times \frac{3}{4} - (\frac{3}{4} - \frac{1}{5})^2 = \frac{1391}{1600}$$

$$((\frac{3}{5})^2 - \frac{1}{2}) \times \frac{1}{4} + (\frac{3}{5} + \frac{1}{2})^2 = \frac{47}{40} = 1\frac{7}{40}$$

$$(2 + \frac{3}{5})^2 + \frac{1}{5} - 4^2 - \frac{1}{4} = (-\frac{929}{100}) = (-9\frac{29}{100})$$

$$(5 - \frac{1}{5})^2 - \frac{3}{4} - 2^2 \times \frac{2}{3} = \frac{5887}{300} = 19\frac{187}{300}$$

$$((\frac{1}{3})^2 + \frac{2}{3}) \times \frac{1}{6} - (\frac{3}{2} - \frac{2}{3})^2 = (-\frac{61}{108})$$

$$(2 + \frac{1}{2})^2 + \frac{1}{2} \times \frac{1}{3} - 2^2 = \frac{29}{12} = 2\frac{5}{12}$$

$$(3 + \frac{3}{4})^2 + \frac{1}{2} - 5^2 - \frac{1}{5} = (-\frac{851}{80}) = (-10\frac{51}{80})$$